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M1 M2 M3
AB
A B
M1 15 11 1650
M2 10 14 1400
M3 9 20 1800
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maximize z=cX, +---+C X,
subjectto a,, X +:--+a,X, =b,

By X, + o+ B X, =10,
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() minimize z=4x, 7X,
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maximize (-2)= 4xX,+7X,

Z=min{ 3,-2}
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(-z)=max{-3,2}

Ir
7= -2

y




[ slack: surplus: j

() 4, 77X, 12 () 4, 7x, 12

4%, X, s=12 4%, X, t=12
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max z=20x, + 30x,
st. X +2x,<800

1 3%, +4X, <1800

max z=20x, + 30X,
st. X +2x,<800
- 3%, —4x, = -1800

3% + X, <1500
3% + X, <1500 X, %, >0
X, X, =20
/max z = 20x, + 30X, \
st. X +2X,+S =800
3X, +4X, +5S, =1800
33X+ X +5,=1500
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/minimize Z= 3x1—5x2\

subject to 9x, —4x, > -5
— (X +5%X, =8
6x, —2X, =21
X =0
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maximize —z=-3X +5(X; — X;)
subjectto —9x, +4(X; —x,)+S =5
—TX +5(X — X)) =8
6x,—20; — %) —s;=1
X1, X5, %5,8;,8,20
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minimize z=2x—X,
subject to x, + X, <120
X, <50
X, <90
X + X, =60
X, 20




(@




m=n

or

or



<

- X +2X,+S
3X, +4X,

Xt X

X1 X5

*tS

=800
=1800
+5,=1500

2

(5-3=)2







(X +2X,+S =800
3 +4x, +s, =1800
K3x1 + X +5,=1500
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X1 X2 sl S2 S3
0 0 800( 1800| 1500|f o 0
0 400 0 200 1100 o 12000
200 300 0 0 600| o 13000
366.7 100| 133.3 0 0] o 12333
500 0 300 300 0] o 10000
0 4501 -100 0| 1100] X
0| 1500] -2200| -4200 0] X
440 180 0] -240 0] X
800 0 0| -600] -900] x
600 0 200 0] -300] X




MaXx. Z=5X, +4Xg
st. 15x,+11x; 1650
10X, +14x; 1400
Ox,+20x; 1800
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mn z=3X+4X, mMmax zZ=X+2X + X,

st. X +2X, <6 st X +4X,—2%,2120
X+ X, <4 X+ X, + X,=060
X, %, 20 X %oy X3 2 0






